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The 9 AM. class has the distribution centered on
the C grade with relatively few A’s. The 10A M
class has a large percentage of A's and D’s with
fewer C's.
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Estimated average number of calls would be
24 smce that number has the highest
frequency of occurrence.

It 1s actually = 25.
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28. a. Ar

Probability

b. Pr(X=2)+Pr(X=3)=040+0.20=0.60
c. PrX=2)=Pr(X=2)+Pr(X=3)+Pr(X=4)=040+020+0.10=0.70

d. X+2=k PrX+3=k)
1+2=3 0.30
2+2=4 0.40
3+2=5 0.20
4+2=6 0.10

Pr(Y+2=5)=Pr(X+2=5)+Pr(X+2=6)=020+0.10 =030

e. 2X=k Pr(2X=1F)
2(1)=2 0.30
2(2) =4 0.40
2(3)=6 0.20

2(4)=8 0.10



